1- من البنزين كيف نحصل على البنزاميد
+ CH3Cl                                         CH3+ HCl                    
- 
           H2O    +        CH3    +    3O2                                         COOH  

COOH      +   C2H5OH                              COOC2H5            +  H2O      
                       استر بنزوات الأيثيل                  ايثانول              حمض البنزويك

COOC2H5    +   NH3                                    CONH2          + C2H5OH 
                        بنزاميد

V2O5 / 400 0 م
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